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GENERAL INSTRUCTIONS:

Read the following instructions carefully and follow them:

1. This question paper contains 38 questions.

2. This Question Paper is divided into 5 Sections A, B, C, D and E.

3. In Section A, Questions no. 1-18 are multiple choice questions (MCQs) and questions no. 19 and 20 are
Assertion- Reason based questions of 1 mark each.

4. In Section B, Questions no. 21-25 are very short answer (VSA) type questions, carrying 02 marks each.

5. In Section C, Questions no. 26-31 are short answer (SA) type questions, carrying 03 marks each.

6. In Section D, Questions no. 32-35 are long answer (LA) type questions, carrying 05 marks each.

7. In Section E, Questions no. 36-38 are case-study based questions carrying 4 marks each with sub parts of the
values of 1, 1 and 2 marks each respectively.

8. All Questions are compulsory. However, an internal choice in 2 Question of Section B, 2

Questions of Section C and 2 Questions of Section D has been provided. An internal choice has been provided
in all the 2 marks questions of Section E.

9. Draw neat and clean figures wherever required.

10. Take w =22/7 wherever required if not stated.

11. Use of calculators is not allowed.

12. Please do write down the serial number of the questions before attempting it.




Section — A

Q 1-20 are multiple choice questions. Select the most appropriate
answer from the given options. Each question is of 1 mark.

T HCF (26, 169) = 13, AT LCM (26, 169) BITT:

(A)26 (B) 52
(C) 338 (D)13

FgUG X2 - 3x — m(m + 3) b LIP

(A)m,m+3 (B)-m,m+3

(C)m,—(m+3) (D) -m, —(m +3)

gfe fgard THHROT 2x2 + kx + 2 = 0 & T SRISR 81, Al k &1 A 81T

(A) 4 (B) +4

(C)-4 (D)o

CWWWWWWCX—yzzﬁTGX—Zy:B$W€H
BI:

(A)3 (B) -3
(C) 12 (D) 1
e p (2, 5)fg3N A(- 6, 7) TUT B(-2, 3)P! A TRt TWRATE T
Tegfag g1, Al m &1 A gRT:
(A)-12 (B) -4
(C) 12 (D)-6
(E)

I § 715 3pfa B Al A qUTPB, AB TR A B AUTAO = 10 cm, BO = 6
cm GﬁT PB=9cm,?‘ﬁAQ3ﬁFﬁ1§%z

(A)15cm (B)25 cm
(C)10cm (D)8 cm

k BT HTH 1 81T, afg 2=50245° 119 3.5 81

cotk tan609

(A)30° (B) 459




(C) 60° (D) 90°

I acos0+bsin0=mdUTasin0—bcos 0 =ngl a2+ b2 BT
(A) m? —n? (B) m?n?
(C) n?—m? (D)m? + n?

AABC ® DE || BC. fe g—‘;z %FMTAEZZ.? cm, 99 EC BINTT:

(A)2.0cm (B)1.8cm

(C)4.0cm (D)2.7 cm
i fau 7T Bryel &R fdaR &3

bl
A /// "fm
A g

DI A HY T 82

(A) BYs & I9EU g & fag, (B) YT & TH=U g & forg,

A BTA = 40° B A BTHAT = 100° B

©fys =y ¥ e  (0)FIYT Ty € Fife
Bye &1 A Yesil &1 Jfgarg Ay 990 gid
U 1:2 ] gl

T Spfa H, IS pA TR PB &5 0 Tel G TR TR WM § T ZAPB = 50° 8,
o 20AB SRTSR &:

AR

<€ || ) )

(A) 30° (B) 25°

(C) 40° (D)50°
(E)

feu e o A Brifehd 83 BT &9hd § (x = 3.14 ):

5C
£ 12cm -

o ~
7 J
a"’

B

DD

(A) 75 cm? (B) 73 cm?
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13.

14.

15.

16.

17.

18.

(C) 70 cm? (D) 80 cm?
(1 + cot © — cosec 9)(1 + tan 6 + sec 0) WHFT%:
(A)2 (B) -1
©)1 (D)0
TS Ufgd &1 A 84 T g1 792 Wex BT g8 a0 HA H Uiy GRT g
U Tdh] B H-AT gI:
(A)330 (B) 400
(C) 360 (D) 300
T BT P 60 B B SHdTs b HHTIRIA g fIaR0 IR fdaR o

Height 150-155 | 155-160 | 160-165 | 165-170 | 170-175 | 175-180
(incm)
No. of 15 13 10 8 9 5
students
IEAD aFf D! [-raclt YTAT 3R 1D I Pt S URY HTHT 6T TN &
(A)310 (B) 315
(C)320 (D)330

k SPTS aTd & TH 31 U1 BT T 1Y SIS R I@T 7T ¢ | U TTH
D1 T, I 3l H, BITI:

(A) 2k (B) 3k®

(C) 4k® (D) 6k®
T dSH! A TUHT DI fob dled] T ITdb YT RIGR Sl Pt Uil
0.08 81T 6,000 fewe ot 71, O I Tl fewme @R

(A)40 (B) 240
(C) 480 (D) 750
&Y 1S IforepT BT P U THE §RT 100 Hiex 218 T 1 H @ a1
T &1 eIfelt B |
Time Taken (in sec) | 18-20 | 20-22 22-24 24-26 26-28 28-30
No. of students 3 18 26 19 6 5

299 I ST & Y §RT 100 HieR G418 P T H fordm 711 Sy 99,
qdHe H, HH AT 52
(A)18.16 (B) 18.96
(C)23.7 (D)33.7
TY 19 Td 20 & forg fa=m-fFewr-



19.

20.

21.

22.

23.

24,

U® HHBYT (A) IR TH dF (R) 31 37 U4 &7 Tgl IR - fRw w
IR fa@wedi (A), (B), (C) 3R (D) H I -

(A) 3UHUT (A) IR TH (R) GHI I § R T (R) UG (A) B
gl WHHRUT 3|

(B) 3MUBYA(A) 3R TP (R) THI A g AfpA ddb (R) HYT (A) B
T8 WHHRU T B |

(C) ATHBHYT(A) T 8 AfB T (R) TTAd 3|

(D) SHfHBYF(A) TTAd & Afde db (R) T &1

SAFUBYT (A): fH51 Gl 4TS QUTT a AUTb B TRTT HCF (a, b) x LCM (a,

b)=axb

P (R): <1 TRSAT3M BT HCFS § 3R 3D O 150 § | T 37T Lem
403!

SfHFHYT (A): y BT AF 6 8, o9 forw fdg p(2, -3) 3R (10, y) & &
B 108|

db (R): & AU T fSgafl A (x, ya) TUT B (xo, y2) b ST BT g
VG —x)? + (7, — y)? BTG |

Section — B

Q 21-25 are very short answer type questions. Each question is of 2

marks.
& 772 3 T, ABCD U 3Mad g1 x 3R y &AM J1d S|
A 30 cm B

a1 778 3l H Al DE | ACTUTDC 1| AP B, Tl Rig sIford 22 = 22

T cp

% Sy
B = G

gfe % 0 aTd g & aTed! g p ¥ &) T=f XaTE PQ 3R PR 3 UHR
Wi STt € f6 2QPR = 120° 8, Al Rig difSt fs 2 PQ = PO B

TS 3 ¢h U g1 b MHR o1 ¢ forgen! 3iiafkes alkfey 352 #iex g, 3R
e uRfd 396 e 81 T o1 AISTS T1d BN,



25.

26.

27.

28.

29.
30.

31.

3YdT
22 9t A9 IR & U Ths &I U g & 91U & =0 § HIST Sl § Sl
P D% TR 60° BT HIV I ¢ | G 1 o0 J1d HIfoTE |
Tfe sin 0 = cos 0 8, T 2tan O + cos?0 BT HH JTd BT
SYdT
TS sin’A = 2sin A B, T A BT T I1d BIfoTg |

Section — C

Q 26 —31 are short answer type questions. Each question is of 3
marks.

gl V2 IURHY H=AT ), ol R SIS fab 5 + 32 411 Teb 3ruiea dw
Guil
fEaTd 980T 2x2 - 3x + 1 H YF o 3R B 8 | TP (9T IgUS S15T fordeh
IF 30 AR 36 B
TS 19 10 "¢ T YRT % fIuid 30 foeft SiR 4RT & 3@ 44 feht STt
g1 13 92l H, 98 URT & fauid 40 forelt SR 4RT & 3rg@d 55 fodt
Al ¢ | M ST J 4RT 3R 19 $ TIfd 1 Do |

SYdT
U Ol &1 IHH 31 SUD T 1 31 & < AT I i a 34 3|
& o a1e U o1 3y G Y g & SR W 10 Y HfF gRf | 3B
IAHT 31T JTd PIfoTT|
(S sin 0 + cos 0 = V3 §, Al TG PO b tan 6 + cot = 1.

TH I & IRI 3R T Iqust ABCD S T 7 | g Hiforg i AB +
CD=AD +BC.

3ryar
Ry wiforg for foreht amer foig ¥ g R Wi 712 <1 2=t Yansfl &t dars
RIS It g
&l SITHT-SET U U 1Y b ofd €| WTidhdT 91d Hifore fo ure
Gt BT ANT (i) 7 W HH § (if) OB 16 D HH § (iii) fawT TdRemmait
o1 fg@ gl

Section - D



32.

33.

34.

35.

Q 32 - 35 are long answer type questions. Each question is of 5
marks.

39,000 1 $©& Afaqdl o s Ja =Y ¥ fauiford fasar wam ur1 afe 20
Hfad 3R i df TA® DI 160 HH UK 8Id | Hfaadl 1 e J1d
DI |

3ryar
3l el Pt BT P 3! BT VMG 18 § | OTd T H ¥ 63 TeT fegr sirar
g, Y 3 31U RITF §ed Tl & | RS 1 e,
fE orpfa W p, seHI ARG R 3R AP HTHEA- |
f¥g g1 afd BQ T oM W AC ¥ R R aar g, / S
Rg o b RA=§CA ; )
Ut 2 YUt 31idReh A Tl Teh Sa-ThR UTey ¥ 40 4T STYR B
qTal U STTHR ¢ H 0.7 He/Adhs & R A Ig @18 | MY &S H eapt
T g1 &1 %R fdHT 9¢ STee?

31yt
MG BT ISP THGA b FUGR & ¥4 H U WigT <1y (deg) e, forg
IR YIS U BIs 1161 UT| I8 3 U hal- I 1 18T Ul
IS U TP & SMHR P18 oD SR TS Mend g1 R MY &1 S s
I B SR < 7oy 3.5 Yt § | T ST AT U T 8 ST bIToTd |
- fear ma faavur e feawita fhdre Tl & figarsil gy forg e fagsel
@t T DI G-I & | FTT 71T fadsel o T 1 Hied iR AT I
DT

No. of 20-60 60-100 100-140 140-180 180-220 220-260
wickets
No. of 7 5 16 12 2 3

bowlers

Section — E

Q 36 —38 are case based questions. Each question is of 4 marks.
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37.

38.

fAfa Ten ¥ gHF U A Sgar g SE B Iy A - 5
16000 T 3R o3 TY & 22600 T HT ITE b
SWIH THBRI & YR R FHafeRad usi & s
IR G
(i) 334 oY & SR IdTe fard1 82
(i) TS <fiH I & SR $d TG 1d PIfoTg |
(iii) fore avf & Iare 29,200 87

3ydT
(iii) TTTd Ty 3R A1 I & SR ITe HT 3feR farfau |

e faenem # Wa faaw &t wfafaftar
TR B & T, SMAHR HTHR & A
ABCD ¥ 1 Hiex &1 g8t R T I3 s8R § XWTd
Wi TS &, AD & 3SR Th gak I 1 Hiex &t
G TR 100 TTHW W T ¢ | o o i fqu g
fort 7 feaman man 8 | FgTReT gt g R AD
S BT 1/4 YT S 8 IR 88 oS} fearch g1
i smadl aga W 1/5d1 g AD SISl & 3R U od 3181 il g |
SWRIF THBRI & YR WR AafeiRad gl & IR difSg|
() e sie o Rufd fafau

(ii) AT fsT & o Bt gt fpamt 82

(iii) Tfe I BT S Sl ! A ara &1 TS & 3l o | e

ST T 8, ) SN SUAT SIST gl AT ATgy?

Yl

(iii) TfS SITT BT 8X 3R AT sl &l fAaM aa X s A g sie I

TH-TIUTE 31 TR ST AT B, Al I U1 ST Hg! T ATgy?
300 Hiex &2 TR & XY TR A1 T TS A T SR A1d Y 30T 3R
3T & | faeiTeR a1 gfaeHeR U SUHRUI § ST SUdT Hiul
g1 &AM (P14 DI AU & T b el 51 TS A A3eqIay i 3R

@
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3T Tl A & 3HATHT HIU B U4 o g
foRTHIeR &1 IUART b TR $9 30° TR |
SO S & MR R Faffad usf s JEH o 5
() & TE TR ¥ R W Ur
(i) 10 e & 91g, WS A @1 fF 19 TR & U 313! ot 3R
TR ¥ 9P g3f 300(v3-1) Hiex & g1 T3 ffl 391 @A
ST o7 | Sfaae eR % Y & 1 BT S BT -
TIT B0 RT UT?
(iii) ST9 ATSC B3 P 3R T TSl A1 BT SHTTHA DI 60° U
ST &, Al TTaR ¥ A1 B1 g3l A1d Be |
3yar
S 3{ITHA PI0T 45° F 60° B Y ol g1 BT R T (v3
= 1.73 BT TART HY) 2




